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NEW QUESTION 1
Refer to the exhibit.

An administrator configures a CA certificate for the Connection Server. However, they are still encountering certificate warnings when trying to connect to the
Connection Server. The exhibit displays the properties of the CA-Signed certificate.
Referring to the exhibit and using the alpha-character indicator, which image shows the root cause of the issue?

00 w»
w>00

Answer: D

NEW QUESTION 2
What are three valid options to store Horizon events? (Choose three.)

A. flat files
B. MS SQL
C. D82

D. MYSQL
E. syslog

Answer: BDE

NEW QUESTION 3
A user reports that they are unable to connect to their desktop from the internet using PColP, but they are able to connect via BLAST.
Which could be the cause of the issue?

A. The firewall is denying port 80 to the Unified Access Gateway.
B. The firewall is denying port 443 to the desktop.

C. The firewall is denying port 4172 to the Unified Access Gateway.
D. The firewall is denying port 3389 to the Desktop.

Answer: C

NEW QUESTION 4
A user reports that sometimes they have issues using their remote desktops and published applications. What three pieces of information should be collected to
troubleshoot the issue? (Choose three.)

A. What exactly did the user see on the screen when the issue occurred?
B. Has the user reformatted recently to clean up old cached data?

C. Does the user’'s home PC have the same problem?

D. What time was it when the problem occurred?

E. What was the user doing when the issue happened?

Answer: ADE
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NEW QUESTION 5
Which two methods are available for authentication to a Unified Access Gateway? (Choose two.)

A. Web Services Federation

B. Smart Cards

C. OpenlID Connect

D. Open Authentication (OAuth)

E. Security Assertion Markup Language (SAML)

Answer: DE

NEW QUESTION 6
A company that is currently using VMware Horizon with instant-clones is researching the possibility of using VMware Horizon Cloud on Azure.
What deployment option is available for Horizon on Azure?

A. Horizon Cloud on Azure with instant-clones
B. Horizon Cloud on Azure with full-clones

C. Horizon Cloud on Azure with Azure clones
D. Horizon Cloud on Azure with WVD

Answer: B

Explanation:
There is no such thing as instant clones in Azure. All clones are full clones. The speed with which clones are created depends on the type of disk you select.

NEW QUESTION 7
Which three Horizon based resources does Unified Access Gateway provide access to? (Choose three.)

A. virtual desktops

B. physical desktops

C. thin client

D. RDSH-based applications
E. 10T devices

Answer: ACD

NEW QUESTION 8
Which are two methods to gather the Horizon Client log bundle? (Choose two.)

A. Start the Horizon Client with the /supportbundle option.

B. From the Horizon Help Desk, select generate client log bundle from the session properties.
C. Gather the log bundle remotely from the connection server.

D. In the Horizon Client, select About VMware Horizon Client and click Collect Support Data.
E. At the Command Line use Support.bat.

Answer: DE

NEW QUESTION 9
Which pre-requisite should be met before installing the Connection Server?

A. Install AD DS and AD LDS Tools on the Connection Server.

B. Use a domain user account with administrator privileges on the Connection Server.
C. The host system must be a vSphere VM with a static IP address.

D. An SSL server certificate must be installed on the Connection Server.

Answer: B

NEW QUESTION 10
Which Horizon feature provides high availability desktops across datacenters?

A. Cloud Pod Architecture

B. vCenter Linked Mode

C. Instant-Clones

D. Replica Connection Servers

Answer: D

NEW QUESTION 10
End-users are complaining that they are frequently being asked for credentials when opening additional apps. Which step should the administrator take to resolve
the issue?

A. Configure SSO Timeout by modifying the Global Settings in Horizon Administrator.
B. Configure Session Timeout by modifying the Client Settings in Horizon Client.

C. Configure a time limit by modifying the Horizon GPO.

D. Configure Desktop Timeout by modifying the Pool Settings in Horizon Administrator.
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Answer: C

NEW QUESTION 13

After creating a new desktop pool that contains customization specifications, a Horizon administrator sees the following message in the VMware Horizon event
database:

Provisioning error occurred for Machine Machine_Name: Customization failed for Machine Which two could be the cause of the issue? (Choose two.)

A. The customization specification has been renamed or deleted.

B. Desktops can only be customized after the end user logs into the virtual machine.

C. The compute account of the template has been removed from the Active Directory.

D. The administrator does not have sufficient permissions to access the customization specification.
E. Desktop pool provisioning is disabled.

Answer: AD

NEW QUESTION 18
Which two client types have the lowest cost of ownership and are easier to manage deployments, firmware updates, and monitor. (Choose two.)

A. Headless Clients

B. Windows 10 Clients
C. Zero Clients

D. Thin Clients

E. MacOS Clients

Answer: CD

NEW QUESTION 21
A Horizon administrator does not see the health status for the Unified Access Gateways (UAG) they configured in the Horizon Console.
What two options could be causing the issue? (Choose two.)

A. The firewall hasn’t been configured properly to allow traffic on port 443.

B. The pod needs to be added to the Cloud Pod Federation.

C. The Connection Server needs to be rebooted.

D. Another license is needed for UAG health overview.

E. The name entered in the Horizon console doesn’t match up with the system name in UAG.

Answer: CE

NEW QUESTION 24
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